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Question No.1 is compulsory. Candidates are required to answer any four questions from the
remaining five questions.
Wherever necessary, suitable assumptions may be made and disclosed by way of a note.
Working notes should form part of the answers.
QUESTION 1 (20 MARKS)

H Ltd. acquired equity shares of S Ltd., a listed company, in two tranches as mentioned in the

below table:
Date Equity stake Remarks
purchased
15t November, 2016 15% The shares were purchased based
on the quoted price on the stock
st 45%
1> January, 2017 ° exchange on the relevant dates.

Both the above-mentioned companies have INR as their functional currency. Consequently, H

Ltd. acquired control over S Ltd. on 15t January, 2017. Following is the Balance Sheet of S Ltd.
as on that date:

Particulars Carrying Fair value
value (Rs. (Rs. in crore)
in crore)

ASSETS:
Non-current assets
(a) Property, plant and equipment 40.0 90.0
(b) Intangible assets 20.0 30.0
(c) Financial assets 100.0 350.0
- Investments
Current assets
(a) Inventories 20.0 20.0
(b) Financial assets
- Trade receivables 20.0 20.0
- Cash held in functional currency 4.0 4.5
(c) Other current assets
Non-current asset held for sale 4.0 4.5
TOTAL ASSETS 208
EQUITY AND LIABILITIES:




Equity
(a) Share capital (face value Rs.100) 12.0 50.4

(b) Other equity 141.0 Not applicable
Non-current liabilities
(a) Financial liabilities

- Borrowings 20.0 20.0
Current liabilities
(a) Financial liabilities 28.0 28.0
- Trade payables 3.0 3.0
(b) Provision for warranties 4.0 4.0
(c) Current tax liabilities
TOTAL EQUITY AND LIABILITIES 208.0

Other information:

Property, plant and equipment in the above Balance Sheet include leasehold motor vehicles
having carrying value of Rs. 1 crore and fair value of Rs. 1.2 crore. The date of inception of the

lease was 1St April, 2010. On the inception of the lease, S Ltd. had correctly classified the lease

as a finance lease. However, if facts and circumstances as on 1St April, 2017 are considered,
the lease would be classified as an operating lease.

Following is the statement of contingent liabilities of S Ltd. as on 15t January, 2017:

Particulars Fair value Remarks
(Rs. in crore)
Law suit filed by a customer 0.5 It is not probable that an outflow of
for a claim of Rs. 2 crore resources embodying economic
benefits will be required to settle
the claim.

Any amount which would be paid
in respect of law suit will be tax

deductible.
Income tax demand of Rs. 7 2.0 It is not probable that an outflow of
crore raised by tax authorities; resources embodying economic
S Ltd. has challenged the benefits will be required to settle
demand in the court. the claim.

In relation to the above-mentioned contingent liabilities, S Ltd. has given an indemnification
undertaking to H Ltd. up to a maximum of Rs. 1 crore.

Rs. 1 crore represents the acquisition date fair value of the indemnification undertaking.
Any amount which would be received in respect of the above undertaking shall not be taxable.

The tax bases of the assets and liabilities of S Ltd. is equal to their respective carrying values
being recognised in its Balance Sheet.

Carrying value of non-current asset held for sale of Rs. 4 crore represents its fair value less cost
to sell in accordance with the relevant Ind AS.

In consideration of the additional stake purchased by H Ltd. on 1St January, 2017, it has
issued to the selling shareholders of S Ltd. 1 equity share of HLtd. for every 2 shares held in




S Ltd. Fair value of equity shares of H Ltd. as on 15t January, 2017 is Rs. 10,000 per share.

On 1st January, 2017, H Ltd. has paid Rs. 50 crore in cash to the selling shareholders of S Ltd.
Additionally, on 315t March, 2019, H Ltd. will pay Rs. 30 crore to the selling shareholders of S
Ltd. if return on equity of S Ltd. for the year ended 315t March, 2019 is more than 25% per

annum. H Ltd. has estimated the fair value of this obligation as on 1St January, 2017 and 315t
March, 2017 as Rs. 22 crore and Rs. 23 crore respectively. The change in fair value of the
obligation is attributable to the change in facts and circumstances after the acquisition date.

Quoted price of equity shares of S Ltd. as on various dates is as follows:

As on November, 2016 Rs. 350 per share
As on 1stJanuary, 2017 Rs. 395 per share
As on 31st March, 2017 Rs. 420 per share

On 31st May, 2017, H Ltd. learned that certain customer relationships existing as on

15t January, 2017, which met the recognition criteria of an intangible asset as on that date,
were not considered during the accounting of business combination for the year ended 31st

March, 2017. The fair value of such customer relationships as on 15t January, 2017 was Rs. 3.5
crore (assume that there are no temporary differences associated with customer relations;
consequently, there is no impact of income taxes on customer relations).

On 315t May, 2017 itself, H Ltd. further learned that due to additional customer relationships
being developed during the period 1st January, 2017 to 315t March, 2017, the fair value of such
customer relationships has increased to Rs. 4 crore as on 315t March, 2017.

On 31St December, 2017, H Ltd. has established that it has obtained all the information

necessary for the accounting of the business combination and that more information is not
obtainable.

H Ltd. and S Ltd. are not related parties and follow Ind AS for financial reporting. Income tax rate
applicable is 30%.

You are required to provide your detailed responses to the following, along with reasoning and
computation notes:

(a) What should be the goodwill or bargain purchase gain to be recognised by H Ltd. in

its financial statements for the year ended 315t March, 2017. For this purpose,
measure non- controlling interest using proportionate share of the fair value of
the identifiable net assets of SLtd.

(b) Will the amount of non-controlling interest, goodwill, or bargain purchase gain so
recognised in (a) above change subsequent to 315t March, 2017? If yes, provide
relevant journal entries.

(c) What should be the accounting treatment of the contingent consideration
as on 31St March, 20177

QUESTION 2(A) (12 MARKS)

An entity (Seller-lessee) sells a building to another entity (Buyer-lessor) for cash of Rs. 30,00,000.
Immediately before the transaction, the building is carried at a cost of Rs. 15,00,000. At the same
time, Seller-lessee enters into a contract with Buyer-lessor for the right to use the building for 20
years, with annual payments of Rs. 2,00,000 payable at the end of each year.




The terms and conditions of the transaction are such that the transfer of the building by Seller-
lessee satisfies the requirements for determining when a performance obligation is satisfied in Ind
AS 115 Revenue from Contracts with Customers.

The fair value of the building at the date of sale is Rs. 27,00,000. Initial direct costs, if any, are
to beignored. The interest rate implicit in the lease is 12% p.a., which is readily determinable
by Seller-lessee.

Buyer-lessor classifies the lease of the building as an operating lease.

How should the said transaction be accounted by the Seller-lessee and the Buyer-lessor?

QUESTION 2(B) (8 MARKS)
On 5™ April, 20X2, fire damaged a consignment of inventory at one of the Jupiter’s Ltd.’s
warehouse. This inventory had been manufactured prior to 31° March 20X2 costing Rs. 8 lakhs. The
net realisable value of the inventory prior to the damage was estimated at Rs. 9.60 lakhs. Because
of the damage caused to the consignment of inventory, the company was required to spend an
additional amount of Rs. 2 lakhs on repairing and repackaging of the inventory. The inventory was
sold on 15™ May, 20X2 for proceeds of Rs. 9 lakhs.

The accountant of Jupiter Ltd. treats this event as an adjusting event and adjusted this event of

causing the damage to the inventory in its financial statement and accordingly re-measures the

inventories as follows: Rs. lakhs
Cost 8.00
Net realisable value (9.6 -2) 7.60

Inventories (lower of cost and net realisable value) | 7.60

Analyse whether the above accounting treatment made by the accountant in regard to financial
year ending on 31.0.20X2 is in compliance of the Ind AS. If not, advise the correct treatment along

with working for the same.

QUESTION 3(A) (6 MARKS)
On 30th January, 20X1, A Ltd. purchased a machinery for $5,000 from USA supplier on credit
basis. A’s Ltd. functional currency is the Rupee. The exchange rate on the date of transaction is

1S= Rs. 60. The fair value of the machinery determined on 31st March, 20X1 is $ 5,500. The
exchange rate on 315t March, 20X1 is 1$= Rs. 65. The payment to overseas supplier done on
315t March 20X2 and the exchange rate on 315t March 20X2 is 1$= Rs. 67. The fair value of the

machinery remain unchanged for the year ended on 31 St March 20X2. Prepare the Journal

entries for the year ended on 315t March 20X1 and year 20X2 according to Ind AS 21.

OR




QUESTION 3(A) (6 MARKS)

Supplier, A Ltd., enters into a contract with a customer, B Ltd., on 15t January, 2018 to deliver
goods in exchange for total consideration of USD 50 million and receives an upfront payment of

USD 20 million on this date. The functional currency of the supplier is INR. The goods are

delivered and revenue is recognised on 315t March, 2018. USD 30 million is received on 15t

April, 2018 in full and final settlement of the purchase consideration.

State the date of transaction for advance consideration and recognition of revenue. Also _state
the amount of revenue in INR to be recognized on the date of recognition of revenue. The

exchange rates on 15t January, 2018 and 315t March, 2018 are Rs. 72 per USD and Rs. 75 per
USD respectively.

QUESTION 3(B) (8 MARKS)

On 15t January 2017, Expo Limited agreed to purchase USD ($) 40,000 from E&I Bank in future on

315t December 2017 for a rate equal to Rs. 65 per USD. Expo Limited did not pay any amount upon
entering into the contract. Expo Limited is a listed company in India and prepares its financial
statements on a quarterly basis.

Using the definition of derivative included in Ind AS 109 and following the principles of
recognition and measurement as laid down in Ind AS 109, you are required to record the entries for
each quarter ended till the date of actual purchases of USD.

For the purpose of accounting, use the following information representing marked to
market fair value of forward contracts at each reporting date:

As at 315t March, 2017 Rs. (50,000)
As at 30th June, 2017 Rs. (30,000)
As at 30th September, 2017 Rs. 24,000
Spot rate of USD on 315t December, 2017 | Rs. 62 per USD

QUESTION 3(C) (6 MARKS)

One of the senior engineers at XYZ has been working on a process to improve manufacturing
efficiency and, consequently, reduce manufacturing costs. This is a major project and has the
full support of XYZ’s board of directors. The senior engineer believes that the cost reductions
will exceed the project costs within twenty four months of their implementation. Regulatory
testing and health and safety approval was obtained on 1 June 20X5. This removed
uncertainties concerning the project, which was finally completed on 20 April 20X6. Costs of Rs.

18,00,000, incurred during the year till 315t March 20X6, have been recognized as an intangible
asset. An offer of Rs. 7,80,000 for the new developed technology has been received by potential
buyer but it has been rejected by XYZ. Utkarsh believes that the project will be a major success
and has the potential to save the company Rs. 12,00,000 in perpetuity. Director of research at
XYZ, Neha, who is a qualified electronic engineer, is seriously concerned about the long term
prospects of the new process and she is of the opinion that competitors would have developed
new technology at some time which would require to replace the new process within four
years. She estimates that the present value of future cost savings will be Rs. 9,60,000 over this
period. After that, she thinks that there is no certainty about its future. What would be the
appropriate accounting treatment of aforesaid issue?




QUESTION 4(A) (5 MARKS)

Entity XYZ entered into a contract to supply 1000 television sets for Rs. 2 million. An increase
in the cost of inputs has resulted into an increase in the cost of sales to Rs. 2.5 million. The
penalty for non- performance of the contract is expected to be Rs. 0.25 million. Is the contract
onerous and how much provision in this regard is required?

QUESTION 4(B) (5 MARKS)

A parent grants 200 share options to each of 100 employees of its subsidiary, conditional upon
the completion of two years’ service with the subsidiary. The fair value of the share options on
grant date is Rs. 30 each. At grant date, the subsidiary estimates that 80 percent of the
employees will complete the two-year service period. This estimate does not change during
the vesting period. At the end of the vesting period, 81 employees complete the required two
years of service. The parent does not require the subsidiary to pay for the shares needed to
settle the grant of share options.

Pass the necessary journal entries for giving effect to the above arrangement.

QUESTION 4(C) (10 MARKS)

QA Ltd. is in the process of computation of the deferred taxes as per applicable Ind AS and
wants guidance on the tax treatment for the following:

(i) QA Ltd. does not have taxable income as per the applicable tax laws, but pays 'Minimum
Alternate Tax’ (MAT) based on its books profits. The tax paid under MAT can be carried
forward for the next 10 years and as per the Company's projections submitted to its
bankers, it is in a position to get credit for the same by the end of eighth year. The
Company is recognising the MAT credit as a current asset under IGAAP. The amount of
MAT credit as on 31st March, 2016 is Rs. 8.5 crores and as on 31st March, 2017 is Rs.
9.75 crores;

(i) The Company measures its head office property using the revaluation model. The

property is revalued every year as on 315t March. On 315t March, 2016, the carrying
value of the property (after revaluation) was Rs. 40 crores whereas its tax base was Rs.
22 crores. During the year ended 315t March, 2017, the Company charged depreciation
in its Statement of Profit and Loss of Rs. 2 crores and claimed a tax deduction for tax
depreciation of Rs. 1.25 crores. On 315t March, 2017, the property was revalued to Rs.45

crores. As per the tax laws, the revaluation of Property, Plant & Equipment does not
affect taxable income at the time of revaluation.

The Company has no other temporary differences other than those indicated above. The

Company wants you to compute the deferred tax liability as on 315t March, 2017 and the
charge/credit to the Statement of Profit and Loss and/or Other Comprehensive Income
for the same. Consider the tax rate at 20%.

QUESTION 5(A) (12 MARKS)
ABC Company issued 10,000 compulsory cumulative convertible preference shares (CCCPS) as on 1
April 20X1 @ Rs 150 each. The rate of dividend is 10% payable every year. The preference shares

are convertible into 5,000 equity shares of the company at the end of 5th year from the date of
allotment. When the CCCPS are issued, the prevailing market interest rate for similar debt without
conversion options is 15% per annum. Transaction cost on the date of issuance is 2% of the value
of the proceeds.




Key terms:

Date of Allotment 01-Apr-20X1
Date of Conversion 01-Apr-20X6
Number of Preference Shares 10,000
Face Value of Preference Shares 150
Total Proceeds 15,00,000
Rate of dividend 10%
Market Rate for Similar Instrument 15%
Transaction Cost 30,000
Face value of equity share after conversion 10
Number of equity shares to be issued 5,000
Effective interest rate 15.86%

You are required to compute the liability and equity component and pass journal entries for

entire term of arrangement i.e. from the issue of preference shares till their conversion into

equity shares keeping in view the provisions of relevant Ind AS.

QUESTION 5(B) (8 MARKS)

An entity enters into a contract with a customer for two intellectual property licences
(Licences A and B), which the entity determines to represent two performance obligations each
satisfied at a point in time. The stand-alone selling prices of Licences A and B are Rs.
1,600,000 and Rs. 2,000,000, respectively. The entity transfers Licence B at inception of the
contract and transfers Licence A one month later.

Case A — Variable consideration allocated entirely to one performance obligation

The price stated in the contract for Licence A is a fixed amount of Rs. 1,600,000 and for Licence
B the consideration is three per cent of the customer's future sales of products that use Licence
B. For purposes of allocation, the entity estimates its sales-based royalties (i.e. the variable
consideration) to be Rs. 2,000,000. Allocate the transaction price.

Case B—Variable consideration allocated on the basis of stand-alone selling prices

The price stated in the contract for Licence A is a fixed amount of Rs. 600,000 and for Licence
B the consideration is five per cent of the customer's future sales of products that use Licence B.
The entity's estimate of the sales-based royalties (ie the variable consideration) is Rs.
3,000,000. Allocate the transaction price and determine the revenue to be recognised for
each licence and the contract liability, if any.

QUESTION 6(A) (8 MARKS)
What are the provisions of section 135 of the Companies Act, 2013 regarding constitution of a
Corporate Social Responsibility (CSR) Committee. Also explain the role of Corporate Social
Responsibility (CSR) Committee and Board.

XYZ Limited is a company which has net worth of Rs. 250 crore. It manufactures parts for
automobiles. The sales of the company are affected due to low demand of the products. The

previous year’s financial state of company are as below:




(Rs. in crore)

315t March 2018 | 315t March 315t March 315t March
(Current Year) 2017 2016 2015
Net Profit 4.25 8.00 3.50 3.25
Turnover 500.00 900.00 400.00 350.00

Examine, whether the company has an obligation to form a CSR committee since the

applicability criteria is not satisfied in the current financial year.

QUESTION 6(B) (8 MARKS)

Calculate Subsidiary’s and Group’s Basic EPS and Diluted EPS, when

Parent:

Profit attributable to ordinary equity | Rs. 12,000 (excluding any earnings of, or dividends

holders of the parent entity paid by, the subsidiary)

Ordinary shares outstanding 10,000

Instruments of subsidiary owned by the | 800 ordinary shares

parent
30 warrants exercisable to purchase ordinary shares
of subsidiary
300 convertible preference shares

Subsidiary:

Profit Rs. 5,400

Ordinary shares outstanding 1,000

Warrants 150, exercisable to purchase ordinary shares of the
subsidiary

Exercise price Rs. 10

Average market price of one ordinary | Rs. 20

share

Convertible preference shares 400, each convertible into one ordinary share

Dividends on preference shares Re 1 per share

No inter-company eliminations or adjustments were necessary except for dividends.

Ignore income taxes. Also, ignore classification of the components of convertible financial
instruments as liabilities and equity or the classification of related interest and dividends as
expenses and equity as required by Ind AS 32.

QUESTION 6(C) (4 MARKS)

An entity uses the weighted average cost formula to assign costs to inventories and cost of goods
sold for financial reporting purposes, but the reports provided to the chief operating decision
maker use the First-In, First-Out (FIFO) method for evaluating the performance of segment
operations. Which cost formula should be used for Ind AS 108 disclosure purposes?




